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Identify the center and radius of each.  Then sketch the graph.

1)  7 + y2 − 8x = −x2
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2)  −8y + y2 + 8x = −31 − x2
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3)  11 + 4x = −8y − y2 − x2
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4)  x2 + y2 = 39

x

y

−8 −6 −4 −2 2 4 6 8

−8

−6

−4

−2

2

4

6

8

www.mrtownsend.com



©` ]2h0N1^6a IKfuttoaY VStotfBtdw\aurReU vLlLiCO.] S wALlllb \r]iigihftBsg ^ryeAsNeHrbvOeDdc.h W KMeaMdteQ hw]iqtbhn ZIOnPfji^nWiQtZeW bGSesoimCeStcrzyh.

Worksheet by Kuta Software LLC-2-

5)  x2 + 4y = −y2
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6)  2y2 + 6x = −2x2 + 10y + 1
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7)  33 = −2x2 − 14x − 14y − 2y2
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8)  (x − 
5
2)2

 + (y − 4)2 = 8
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Answers to 
1)  
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Radius: 3
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3)  
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